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HSSC Group D Oct 21 ,5023 Shift1 0Q
i

‘sirg’ vel WA % R T H AT S € 2

(1) I
(2) TSI
(8 3HH
(4) FARE
(5) STR el S = |

ST Y Fob T T WA 7
(1) 1950

@ 1947

3) 1951

(4) 1930
(5) <R 7E 21 e |

CE' QA € :

87 i TREHE

@ HEW

3 FgEW

(4) R AEC
(5) = 7 &1 = |

ﬁnﬁf@aﬁﬁﬂm—mwwmﬁmﬁm
mﬁwmwmﬁa#hﬁﬁﬁw
Ewiﬁawaﬁﬁmm%?

 TEE HSE

(2) & e, 9 g

(3) &A@ foen Af4Em

(4) Hfeen FEEA

(5) I E &1 e |

& A (MAA) I 1 forega T e ?

(1) §f =1 gl e (G e s1evr)

(2) o ud fawin (e 48 STETeHe)
(3) faifeEl | mifee o Haul weea (dea
RIESIT 371 SgTerdie TeH) i

(5) B T &A1 W |

5.

uesti
¢Bihtdo%sﬁ)%giilrs?cgig]3rated in which |
3 n:han

State ?

(1) Punjab

(2) Uttar Pradesh
(3) Assam

(4) Karnataka

(5) Not Attempted

Which year did India attain freedom ?
(1) 1950
2y 1947
(3) 1951
(4) 1930

(5) Not Attempted

‘CE’ refers to :

(1) Common Estimate
(2) Common Era

(3) CasualEra

(4) Coastof Egypt

(5) Not Attempted

Which one of the following refers to the
programme introduced in all government
elementary schools to provide children with

cooked lunch ?
(1) Mid-day meal
Beti Bachao, Beti Padhao

(2)
(3) Sarv Shiksha Abhiyan
(4) Mahila Samakhya

(5) Not Attempted

What is the full form of ‘MAA’ programme ?

Mother’s Absolute Attention

(1)

(2) Mother And Adolescent

(3) Menstrual hygiene Among Adolescent
girls

(4) Mother’s Absolute Affection

(5) Not Attempted
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6. U= Seman )

W) 8371w
(2) 9371 &,
(3) 2371 fs

(4) 6371 s
(5) ST &1 =ed

7o TR R i feor v R A
M) Tl
(2) SrgHEs
(3) Sy
(4) SE
(5) SR HE o Wed |
8. TUT YWRG % WYH MR- b €9 T fFiy wr
fepan 2
(1) TER TeaYYE 9o
W@ T eEE
(3)  STETE A Te®
(4) Hi. s

(5) W TE < =R |

9. ‘fofew vma 1 sfrera’ TeF F oraw # §2
(1) =i e

@) TIE aEEE
(3) @IS FsH
4 = fae

(5) IR TE A AR |

10. F9 2014 ¥ YRY gU ‘S9AH Z39 13RI

o)  Trafod 2t & GAE 9T AL SR Sl
ekl Ied g2 e A= 1 it HE |

(2) o S ) Rt e gl e
FaTt Y T |

(3) dfaa a=ii &I foren waH FE 1|

(@) feruirii @ faf= warm 1 streammasi &1 gfd
&q ST, A de HaTd Fe A |

(5) I el < Aed |

10.

?
What is the radius of the earth

(1) 8371 km
2) 9371 km
(3) 2371 km
(4) 6371 km

(5) Not Attempted

f S
The earth is surrounded by a layer of gase

called :
(1) Environment £ :
(2) Atmosphere 5
(3) Climate

(4) Ozone

(50 Not Attempted

Who served as free India’s first Gove
General ?

(1)  Sardar Vallabhbhai Patel
(2) Maulana Azad

(3) Jawahar Lal Nehru

(4)  C. Rajagopalachari

(5) Not Attempted

Who is the author of the baak
British India’ ? ;

(1) Warren Hastings
(2)  Lord Mountbatten
(3)  Lord Curzon

(4) James Mill

(5) Not Attempted

‘Mission Indradhanush’; la

2014 is:

(1) To cover children s
partially or not v
routine immunisatio

(2) To provide afford
healthcare to the r al

(3)  To provide education t
children, 4

(4) To provide mforma
and service to meet t
adolescents,

(9)  Not Attempted

\._‘____
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o gl S Bt s, SR i i v
Fa T ag? (1) Gujarat
(1) T™ (2) Orissa
(2) efsm (3) Kerala
(3) F (4)  Punjab
M e (5) Not Attempted
(5) ST AE <A Hed |
12. ‘g Frefen i 8 e e, v odig | o ::o?nk]i:d({g;::tl?s}:g::}he SR
T UEA S € 2 (1) Dupatta
N 9= (2)  Ornament
(2) SnE° (3)  Footwear
(B) S (4) Saree
(4) et (5)  Not Attempted
(5) S TE o 9ed |
13. Where is Jamia Islamia University situated ?
13. wiea st favafamem wal st 2 (1) Bhopal
(1) <= (2) Delhi
2) feeel (3)  Lucknow
3) T (4) Aligarh
g I (5) NotAttempted
(5) I T SN =ERA |
14. World Environment Day is celebrated on :
14. fovs wHiEw feam oM s £ - (1) 7% June
4 7 (2) 5% July
2) 5% :3) 7:*; July
4) 5™ June
t[i]] '; ? (5)  Not Attempted
(5) 3AE & = | 15. As per Census 2011, the literacy rate in India
ig
15. SFUAI 2011 % A, YA F e ot E ; (1) 780
W 780 (2) 88.0
l'? zg-g (3) 83.0
@ 730 43788
(5) I = A (5)  Not Attempted
VNATH / E1
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16. T4 2016 H YRG TGN 3 e f
sty e & oo amﬁawmqahqwm

& foFen T R
(1) 3=H

W2) H=d Yg
(3)  FHIH
(4) SN

(5) IR TE T =®d |

iv. F1 U F FRO AG-I0 S St e

(#) TorEE BI
2) fEafEEc
(3) fE=fE=aD
(4) fae== A

(5) SR TEl o1 =9red |

18. @Y -I¥ fed 73 fagg sre9al & @Y - 11§ KT T

-1 - 11
(B T S n -
@) ‘@’ feufa § fEw (1) _@_
(c) Tomgase T
D) ==q V)
& faweg g4 -

(A)-(111), (B)-(1), (C)-(11), (D)-(IV)

16.

17,

18.

19.

in the year 20

16, the Governir
ission called _

initiated @ M1SSC .
which & proper Sewage disposal

started..

(1) Udaanf

(2) gwachh Bharat

(3) Ngma-mi Gange

(4) Ujjwala _

(5) Not At_tempted

Deficienrl:y- of L causes beri-beri
disease: T |

(1) vitamin Bl

() Vvitamin ©

@3 vitamin D

6)

(1)
(2)
(3)
(4)
(9)

. component given in
e symbol given in

Dialysis
Transpiration
Elimination

Not Attempted

(1)
(A)-(IV), (B)-(1), (C)-(11), (D)-(I11)
3)  (A)-(1V), (B)-(111), (C)-(11), (D)-()
4)  (A)-0), (B)-0D), (C)-(111), (D)-(IV)
(5) <o A 271 =9 |
19. u&ﬁmmﬁﬁmmwma?a?amm
mm;ﬁqmgmﬁr‘ﬂ%ﬂm% 5] T8
i T e || T A FHEAT 7 :
) eEfatad
(2) e
(3) fAepEA
(4) TS
(5) 2 7 &A1 A |

AR
5 1el  fen zerne/ SPACE FOR ROUGH WORK
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l 20, TP wH A, T R

20. The SI unit of mass is :
; (1) kilogram
’ “yf : (2) pound
| & m (3) ounce
i (3) il (4) gTam
i i I e (5) Not Attempted
(5) S
21. RUEEfTH A’ HER #wnm 21. Hepatitis ‘A’ is caused by :
(1) "%"E’T"] (1) Virus
_ (2)  Fungi
G e (3)  Protozoa
4) Eﬁa’rc‘il i (4) Bacteria
(5) I TE & =T (50 Not Attempted
22. Tr=fefen i gafoa = : 22. Match the following :
M (M (1) (IT)
A  TFEE () HHSR G (A) Lamina () Weak stem
B) g (II) 3iEmEE (B)  Petal (I)  Ovary
— (). (C) Pistil (1) Leaf
A (D) Creeper (IV) Flower
(D) Tordi o (V) 9=
(1) (A)-(1m), (B)-(1), (C)-(1), (D)-@V) () (A, (B)-(1), (©)-0), (D)-(v)
| 2),  (A)-1V), (B)-(1), (C)-(m), (D)-(1) @) (A)-av), (B)-(), (C)-(m), D)-()
| 2] (A1), (B)-(I1), (C)-(1v), (D)-(1) (3)  (A)-(1), (B)-(11), (C)-(1V), (D)-(1)
' (%) (A)-(), (B)-(1v), (C)-(1), (D)-(1)
' HED ‘iﬁ’&:ﬁﬁﬁﬁ’l : (%) (A)-am), (B)-(v), (C)-(1), (D)-()
(5)  Not Attempted
23. qn el § 2 St st
| Z 23. and are water borne
' S diseases.
.I | :; z:a:?ﬁ:z{mm (1)  Beri-Beri and Dysentery
3) e s e (2)  Scurvy and Cholera
e ol F-“ : (3)  Polio and Rickets
i . () Typhoid and Meningitis
(5) TR <A = (5)  Not Attempted
24. Trefafes 4 | fFa% sames 8 4w 51 b e
AME? 24. Yeast is used in the production of :
(1)  sfasH (1) Oxygen
2) w=EEe (2)  Aleohol
@ e (3)  Hydrochloric Acid
@) (4)  Sugar
(5) 3T B A (5) Not Attempted
VNATH / E1
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25. T e wHOA S0 A e Het w1 58 vy
Tl mmmﬁﬁﬂmﬁ@m}; g
(1) 25 #fe :
(2) 50 ¥dHe
@ 75 TIH=
(4) 100 HerHr
(5) I Sl oA = |
26. foefoEa 3 § HIH-9 ®eg Tk e
(1) TE )
(2) =99
(3) §™ & AIA
@ T
(5) SR Tl o = |
i ————_—ﬁmﬁm%mg@m
qregE 1 ATEvIHal T8l el ¢
(1) <=
¢ T
(3)  SrSEsH
(4) Tafemm
(5) SR T < =ed |
28. qwmﬁ___;__ﬁsamé%%’l
v warereE
(2) TARS
@) =
(4) FHFEl
(5) 'SFIT'—YE'T"WWI
29. ﬁmﬁﬁaﬁﬁﬁﬁﬁﬁrnﬂaﬁﬁﬁﬁm?ﬁ%?
(1) ﬁmaﬂqcrﬁafﬂ - e
o 5 i AT

25.

26,

27.

28.

29.

A boy is standing at a distance of 50 cm from
the plane mirror., What will be the distance
between the mirror and the image ?

(1) 25cm

(2) 50 cm

(3) 75 em

(<) 100 em

(5) Not Attempted

Which of the following 18 pot a terr

habitat ?

(1) Desert

(2) Rainforest

(3) Grassland

(4) Pond

(5) Not Attempted
d for transfer of heat by

No medium is require
the process of ———

(1) Conduction

2) Convection

3) Transpiration
(4) Radiation

(5) Not Attempted

Earthworms breathe through their

(1) Tracheae k.

(2) Gills i
(3 Skin .
(4) Lungs ’ -

(5) Not Attempted

Which of the following is not the characteristic
of fish ? Pt
(1)  Presence of gills

(2) Long backbone with cylindncdl body
A1 fae ! - ) R b
o Hond st st smais S
(4)  Presence of fins |
(5) Not Attempted

z/; mﬁiéﬁﬂw‘ﬂﬂaﬁwﬁmaﬁ“ﬁﬂ
T el e €

() qmﬂﬂ(f‘ﬂ)’ﬂm”ﬁ

g v A

VNATH/ E1
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31.

32.

30.

Wl W aw e w weena & fad agsh w5

(1)  wfefe=n &aar
@ T

(3)  Feraa

(4) el

(5) IV T 2 = ed |

fawq &1 997 Ffau ;

(1) TSR

(2) 3
(3) TR

S

) SHeTh

(5) S T o 9Teq |

g FYT ﬁhmaﬁaﬁmlaﬂmﬁqm%l feg

e

FUHl T A EC AR A QA I 9 Y

ﬁmémﬁ?mﬁﬁa‘f.ﬁvﬁaﬁf‘qﬁﬁq—wﬁ
mmwmﬁ%wmaﬁmmﬁﬁw

30.

31.

32.

The property of metals by which they |
beaten into thin sheets is called : mll ¥

(1) Reactivity
(2)  Ductility

(3) Malleability
(4)  Conductivity

(5) Not Attempted

Find the odd one out :

(1) Carrot

(2)  Potato

(3) Tomato

(4) Ginger

(5) Not Attempted

Two statements are given, followed byt
conclusions I and II. Assuming th
statements to be true even if they seem to b
at variance from the commonly known facts

decide which of the conclusions logicall;
z/fAFem &2 follow/follows from the given statements.
&g : Statements :
T/ SEE FH § | All animals are dogs.
FBFA FATF | Some dogs are dangerous.
e - Conclusions :
L A A FAAF E | L All animals are dangerous.
O FB3FdTHaE I.  Some dogs are animals.
(1)  Faa fed 1 faes 2 (1)  Only Conclusion II follows.
(2) fwd 1 @R 10 2 e ) (2)  Both Conclusions I and II follow.
(& A fed 1 3w 9 & 1 ferem &) (3)  Neither Conclusion I nor II follows
(4) waa ey [ HFeaa 2 (4)  Only Conclusion I follows.
(5) =W A 2 =ed | (5)  Not Attempted 3
VNATH/ E1 ¥ @12t o ferw zermel / SPACE FOR ROUGH WORK Page!
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33. Hﬁwmﬁwﬁtwm @T V'V oy v
3 . " ® FRYHW | 33, 1f i tain
ST 2 WA CHIDE® %) o fermy ‘FésHawc’:ih

W I COLE T same Mnguagﬁ _
2) —l‘l{%&%m (1) KLGH S
(3) KGEF (2) KLEI
(4)  KLEF @) KaER

(4) KLEF
(5)  Not Attemptec

34. AR Q, RFITFTH WY @0, pdfpg | 3% Qs brot

YR Tafud ¢ ? Q' related to’
(1) ==y ¢ K. . (1) Uncle
L2 = (2)
@) =¥ :2
R 5
(5) ST I o =@Ted |
35. A set of
35. =19 s el % 9HE 1 STeateyd A 3 e Jfﬁ:wd
2l TEsl F 39 SAeE &1 999 i EE STTER accor
S7eq3 1 SIS A U Ueh ALY eE 9 | c
o S R .
i 2. A NEAEEGEEG (1)
M 2,1,586,% 2)
o 2.5,1,364% 3)
3) 4,1,5,2,3,6 @)
4 3 5,1,4,2,6 (5)
(5) e A 2 = |
| 36. Tt 25t
36. qﬁﬁﬁraﬂﬁzsmﬂwiﬁ‘“ﬁﬁ monthi
oy TSR 1 7 () S
(1 S (2)
) 4 (3)
3) © (4)
@4 3 (5)
(5) el wﬂﬁwm;smchonaouaﬂ?

VNATH / E1



3 4 . : f the series :
37. T ME SEEA H TN TR AA FifAU 37. Find the next term o

11, 12, 16, 25,41, _? 11 12,16,25; 41, 2
T T
(1) (818 []' 66
Sall 2) 69
W 72 b B 72
4) 65 :
5 ) (4) 65
(5) I o HRd | g \

(5) Not Attempted

38. W W= A, B, C, D T E I HI 31 e %1 v
5 , 7 " : ) gk e abih . B, C, D and E are standing |
i o @S €, S Aevrs T8 R s st wm A gy | 38 m;;h;};i:’g; :orlh but not necessarily in th,
C), B H W AARA, F AR e A s Dy

same order. ‘C’is to the right of E and to
REERCE R B R E & left of ‘A’. ‘A’ and ‘D’ have one child betwee,

them. Who is in the middle of the row ?
il( : ;" N 1) e
i ,3 o
(3) A DA
o AB@DREC 1
(5) W TR < =" | 4 E

(S)  Not Attempted
39. UF = SW few 4 He o @el ¥ o2 amed
fn F 135° g T €, 39% = sforad few § | a0,
90° T Il ¥ 1 319 39 e fRg fen i 7

A man is facing North direction. He turns
135° in anticlock-wise direction, and then 90°

in the clock-wise direction. Which direction
(1) W is he facing now ?
( I-9f=m
V% : ook (I) North
(3) dI=H ) (2) North-West
(4) - c, (B) West

(5) Not Attempted
40. mmﬁﬁmmuﬁuqﬁﬁﬁ,sﬁm%
feog gefuyg 27 40. Kilometer is related to Distance in the same

- way as Newton is related to :

(1) Density

Force



e

2. 15)
1. TH SO F PR I S S« e e i
:Tf,—_‘ g SHEIEY 5 Jamray '_ﬂ’[s.]al ?‘r ) 1
IS 974 & 9% g3 'Jq-;{r;,.—:] o e ; 41
THH] 37 F e AP 792 A Fdndier & @
ST ST (97 Hemte §) g
) 5244
(2) 5544
(3) 5306
4) 5712
(5) I S 9=y
42 -"j.—f":, 45 — p J = RS = 3
K > |28 = {37 — (15— 1)) =58 &, T x 1 A
; 42,
(1) — 19
Vg 19
3) 29
(<) =29
(5) S TEl o 9 |
43. TSI T3 H A, B ¥ 20% F9 F@ w21 € A
e =18 T 72 92 § WA FHAIE, A BSH FE | 43,

=1 foFa4 999 ¥ 90 L 99 ?

A

90U500 T 2 35,000 a9 #1,
B0 % Fe1 14 H B F

(5) Not Attempted

than its
5 ' m mot‘e
The radius of a (‘._vlmder 185 t?ace area of the
height, If the eurve sur lume ©
1e1gnt., 2 then the vO

cylinder 18 7‘-)_2 _Cm )
cylinder (in cm?) is ¢

(1), 5244
(2) 5544
(3) 5306
(4) 5712

(5)  Not Attempted

”45—|28—lS?-[lS——x];]——'SS,then the value
of xis: %

(=19 o

@) 19 y i 25 (SF

(3) 29

(G2

A does 20% less work than B in the saj:l;e

time. If A can complete a piece of work in
7Y hours, then B can do it in : -
(1) S%hours
(2) 6 hours
(3) 6% hours
(4) 5 hours

(5) Not Attempted

A and B started a business by inves:
¥ 22,500 and X 35,000 respectively. Out
total profit of ¥ 27,600, B’s share is :

(1) ¥ 14,400
2) 216,800
(3 19,200
(4) 210,800

Not Attempted
GH WORK




j
T

: . 5 3 % | 45, The cost of type - | rice is Z 15 Per kg arg 3
B WRITSA IR 01T 15 R ey ?i?ﬂﬂh: type - II rice is ¥ 20 per kg. If rice of bo
T - 11 % | 1 HeA R 20 9 fedom ) afy types are mixed in the ratio 2: 3, then ¢,
HEIRE T i 3 T foeran wn &), @ fiygm :I'ns[ price per kg of the mixed variety of i,
&1 ufa feetiom geg & . 19:.1
(1) T 19
(1) T19 | |
(2) T18.50 (2} ¥18.50
(3) <19.50 B3) R 19.50
W 18 4 %18
(5) I TE T IRy (5)  Not Attempte
'i 25 & % H'T —Eﬁr" 5 46. If || ==t 25 =1 >
4'6~ -'Tr_z. .:1 o e ]+ —_— ) JCEF[:":I . m— —
\ 144 12
v s (1) s
2) 13 @ i3
(3) 1% (3) 1
4) 1 4) 1
(5) W T EEy (5)  Not Attempted
47. TF 7% 550 ﬁmaﬁ-ej 1 ﬁmﬁmm%m 47. i; tr_uculi cm;::rs asdiséﬁnce of 5
e . minute whereas a bus covers 3
'U‘?" N33 T?‘-EFE il ?Sﬁ 45 ﬁT’Eﬁ T A E | b 33 kms in 45 minutes. The ratio
F1 70 =1 =99 F v UM B : of the truck to the speed of the bu
(3}, 4-3 (1) 243
2. 3:5 N3 5
(3) *5:3 (G5 55 3
(4) - 4 (4  3:4
(5) = 7 = = | (5)  Not Attempted
48. 7 "Ews 1 Hop 28 ¥ 3 I LCM 336 & | 48. The HCF of two numbers is 28 and their L,
afe T e 112 & =@ ZHA T e - is 336. If one number is 112, then the ot
number is :
W . @) 64
(2) 84 2 84
(S8 02 (3) o2
W e : _ G T :
(5) S e S (5)  Not Attempteq
VNATH /E1
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49,

50.

mwﬂnﬁﬁﬁqwr{mﬁ@@ﬂm%,aﬁzﬂ

200, a1 fire e &1 AR IAAR 1.600 faud f= g
& #-d ufe 99 e ¥ UF S8 # AET 1
)
(1) 1,600
(2) %1920
(3) 72,000
4) T1,280
(5) = T8 o1 9 |
A X_lEg@ XtV mamdm
y 3 X< - y°

5
(1) a
(2) 4
- -5
(3) 3
P - 10
(4) 9
(5) I TE < = |

e ST 3 6 2 E &I U 12 of § =
= & S € 7

5=

49.

50.

51.

Arun buys a pair of skates at a aale where
the discount given is 20%. If the amount he
pays is T 1,600, then which of the following 18
the marked price of the pair of skates ?

(1) T 1,600
(2] T1,920
(3) T 2,000
(4) ¥ 1,280
(5) Not Atternpted
2 2
X l, then the value of Al -Uz is
y 3 Xa=y
A
(5
A=
2l
=
=
3 - 10
@ Ee=
(5) Not Attempted

At what rate of simple interest will a sum of
money doubles itself in 12 years ?

1 1
—% 8—%
T () 8=

1 1

—~% 8—Y%
@ 25 ()

1 1

— o g___%
@ 93 (3) =

1 ]

=B B="%
O (I g
(5) el &l e | (5) Not Attempted

=15 o1l @ fere e | SPACE FOR ROUGH WORK Page 13

VNATH/E1




lling 17 balls for T 720, there i &1
- T ” - ; : 52. On se
52. 17 el 1T 720 § 499 9T, 5 Wl F HT 4T F

equal to the cost price of 5 balls. T},
= B B ® | U N R e R price of one ball is :
(1) TS50

(1) 750
(2) TS5 2 55
3) 260 @) 260
Sl @) a5

(5) ST <A S (5)  Not Attempted

Bk ; - mjﬂzﬁw ﬁ%mfw 53. The greatest number which divides th

greatest 3-digit number and the grf:a:p;
(1) 4-digit number, exactly is ;
(2)

~]

8 (@)
B 9 @) a8
@ 3 B 9
(5) W TE =R 4 3

(5)  Not Attempted
54. TS 2 : 3 F U H €1 Az 37w A 125 3,

3 F@T@'E?Fﬁ : 54. Two numbers are in the ratio 2 : 3. If the
(1) 32,78 sum is 125, then the numbers are -

2) 50,75 ()T 3278

(3) 24,36 )R SR

(4) 20,30 (3) 24,36

(5) =W = <7 =eq | (4) 20,30

(5)  Not Attempted
55. Afe o 3@ % foemo &) o qen et gt
25 Hiex ag) 168 &1 Hit &, 1 317 7 wrvelt aqm

S5. If the length of the diagonal and the area of
- rectangle are 25 m and 168 m? respective
) then the longer side of the rectangle is :
g 5, (1) 17m
(2) 24 4. 2 24m
(3) 314t @, 31 m
(4) 12 4 @4 12m
(5) I AL & = | (5)  Not Attempted
VNATH/E1 2% W1l & fe1u 2iTet / SPACE FOR ROUGH WORK Page
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56.

o
=]

58.

59.

60.

Choose the correctly spelt word.

W

Humorous

(2) humoros
(3) humarous

(4) humorus

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

They sold their old house because it was
a white elephant

(1) useless

(2) very comfortable
(3) 4 collapsing

i) very large

(50 Not Attempted

Find out the antonym of frequent’.

(1) return
(2) fear

(3) alarm

(4) rare

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.
To travel hopefully is a better thing than to

arrive, and the true success is to labour.

(1) positively

(2) negligence

{jj carelessly

(4) rationally

(5) Not Attempted

Pick out the part of the sentence which has an

error. If there is no error, your answer is (3).

This is the third communication I have sent /
(A)

and I am much surprised /
(B)

at receiving no answer ,
(€

(1) (B

(2) (©

(3) No error

(4) (A)

(5) Not Attempted

VNATH/E1
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61.

62.

Fill in the blank with suitable alternative.
You will not overtake him unless you
] walk quickly

(2) play

(3) reading

(4) sleep

(5) Not Attempted

In the following question, the first and the last
part of the sentence are numbered S, & S,
The rest of the sentence is split into four parts
and named P, Q, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

(‘«1’( QPSR
(20 RQPS
3) SQRP
(49 PQRS
(5) Not Attempted

Choose the alternative
the given sentence it
The accountant t@
customer.

(1)
(2)



65. Change the following sentence into indirect | 70, ‘3% Y& % 2M A 999 900 T A4 2
speech. (1)
Shakti said to his friend, “Look out! There is )
a snake behind you”. w e
‘1)’? Shakti exclaimed to his friend with (3) e
surprise that there could be a snake (4) To®
behind him. % 2 ‘
5 g A o
(2) Seeing a snake behind him, Shakti 9] el & =Tt
asked his friend to look out. 71, ‘(e3mm’ % A G a aren gatfus T o
(3) Shakti warned his friend that there was 3 " TRa
a snake behind him.
(4) Shakti told his friend to look out as (1) e
there is a snake behind him. (2 fm
(5) Not Attempted (3) feTmm
66. feu T o fameu # o w1 g TR &2 (4)  .amm
2) TEITEATARE 72. HE-T a1 Ha FHF F 32 0
(3) U H UgHUI HH A WIT| (1) S8 =R %1 & F aien)
(4) vHld R Stew 1 ER Gey ¥ (2) <fadi SR TsmE
(5) ST < Iwa | (3) TYBA WIS
: A g, : W T wEg
g ﬁfﬁaﬂq“ﬁ“ﬁ@ a“_’*‘;*mwm (5) S
l\l} Sifae e 73. ‘FeRiiedl &l Q@ T2 AW I A= weiwn
> "ﬁ'ﬁg g I ¢
2) s (1) STIY™H 3SR H
(3) &M 2 =i sEER
g e : (3) I ScAHT
(5) ST W < 9w | (4) S SSAHR H
68. fou Tu forw foshca & 5 w1 ym w9 22 (5)  SRCTE <M e |
(1), =4 74. 59 999 § geen we wuE @), 58 e § -
2 = (1) wEsitfe
(3 = @ f&
(4) YfgEw ﬁ; aﬁmmm
(5) IR TE &9 =@ |
) (5) SR FE S =R |
. '@Rd T 7Y 91 gEEt : :
B0 g LR B TR SRR S S e S o o e e e
(1) #EY3 F@ 51 G99 F | W
(@) FIEL = o 3T @ e
(3) ufazm 5@ A 719 #H) (3) TRE
(4)  @Afgemiae I=fd FET) ) Tyfe
(5) 3 TEl <A1 Amed | (5) I A R |
VNATH / E1 3G 14 o f1u 2errel / SPACE FOR ROUGH WORK




FrfafaEd oAt ut fa=m #ifa .

i (A) =1 Fifed g STl i
@) TS mifes TEERT 9O ol & d2 W 8
e § @ -/ H F w@E/E?
(1) Fad (B)
(2) (A) 31 (B) HEll
(3 Ad (A i 3 & (B)
(4) Fad (A) |
(5) ﬂ'ﬂ"ﬂﬁ'ﬂﬂﬁﬁi
77. rrﬁnwmmﬁgﬁawa:mmwmwm
(1) FETaH
o) EEE
(3) EET®
(4) EEE
5) S & e |
o e 8 e e Al T T T
V. qgmeme?
(1) ==
2 W
3) T
) FE
(5) e 2 271 = |

79. mﬁmaﬂn@wamﬁﬁ;éwﬁuﬁﬁmﬁﬁaﬁﬁ

& - T T 2
(A) mmaﬁmwawwmimﬁ%l
(B) mmﬁﬁﬁ%w?ﬁﬁdaﬂmﬂﬂ%l
Wﬁﬁaﬁﬂ—m/ﬁmﬂﬂnﬁ%ﬁ?
(1) #F(B)

)  (A) W (B) T

31 (A) 21 A7 (B)

(4) AT (A)

(5) e A a1 e |

76.

77.

78.

79.

VNATH/E1
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Consider the following statements

(A) Nada Sahib Gurudwara 18 aituated in
Ambala

(B) Nada Sahib Gurudwara 1s
the bank of river Ghaggar.

gituated on

Which of the above statements 18/are

correct ?

(1) (B) only

(2) Both (A) and (B)
(3) Neither (A) nor (B}
(4) (A)only

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Bah udhanyakya
(2) Hariyala

(3) Haryanak

(4) Haribanak

(5) Not Attempted

Boojali, an ornament is worn in 8
the body by womertl in Haryang

(1) Forehead

(2) Foot
(3) Nose
(4) Ears

(5) Not Attempte

Consider the follow
of National Securit

(A) Operational
Manesar..

(B)

Ministry of
Which of thi

correct ?
(1)  (B)only
(2) '

(3)



80.

81.

82.

83.

nfon sheft fvm @ & fau afag 2

(1) Hag
Ry T
(3) s
) TR

(5) IR Fol o1 9Ted |

Hehel o4 H{e] 3 (S T8 S i) ey frefafag
FYA W ﬁi’ﬁﬂaﬁﬁ‘lﬂ:

A) FEMHF AW R ERF ARG

Ao §)

B) TSEHFCES NI F A @S TR
stfe B

39gF § ¥ FH-91/9 O w R/ 2

1) e (B) |

2) (A) ¥R (B) 2

(3) AW (A) ARAE (B)
(4) Ed (A)

(5) IR < =R |

fFefetEd § 8 #1 o % e sue SR
e AR TE T e?

=~

(1) HHEM9q
(2) FEEN
(3) TErE
(4) fET=

(5) I TE < e |

g f9e1 9 urdm T2 12 favafaae feod 82
(1) 7=

<]

=

(2) EARER
(3) FEEA
(4) UHEHA

(5) IR &1 Hed |

VNATH / E1

80.

81.

82.

83.

Garima Chaudhary is well known for
sport ?

(1)  Kabaddi

(2) Wrestling

(3) Archery

(4) Judo

(5) Not Attempted

Consider the following statements about ¢,
State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than t};,
Bihar.

(B) GSDP of Punjab is more than tha;
Haryana.

Which of the above statements is
correct ?

(1)  (Bjonly

(2) Both (A)and (B)

(3)  Neither (A) nor (B)
(4) (A only

(5) Not Attempted

Which one of the following is not amongst t
major cotton growing districts of Harvana

(I) Sonipat

(2) Ambala
(3) Rewari
(4) Sirsa

(5) Not Attempted

In which district is the Indian Natio:
Defence University located ?

(1)  Gurugram

(2)  Faridabad

(3) Karnal

(4) Panchkula

(5)  Not Attempted




I —

84. Tr=fefEa ¥ @ frgy =R
T W e 2 AT %} 37 R Torft g1 4

I Tl o1 =ed |

(5) ST Rl oA = |

ST o T o S © 2
(1) =fEmen
(2) YIS

" ' 1
84. Who amongst the following did not P
Haryana in Ranji Trophy ?

(1) Kapil Dev

(2)  Rajinder Goel
(3) Sarkar Talwar
(4) Maninder Singh
(5) Not Attempted

In which month of the
Surajkund mela is held
Haryana ?

(1) December
(2) Octob
(3) B

ay for




89.

90.

91.

92.

VNATH / E1

fiysin =1 uret faom ) agEn eq & fan ufrad &

¥, gon g - 2

(1) W HEEE
(2) 3 e
(3) g wEETE
(4) HE TEIE

(5) S FE 2 9ed |

ﬁmﬁﬁmﬁﬁaﬁqaﬁwmmuﬂw,aﬁﬁn

FSAET Ht § 2

(1) i Fox U=

(2) i 99 5 e

(3) i go49 e

(4) 4 sifE faw

(5) R €l = |
ﬁmfaﬁaaﬁéaﬁqmg&wﬁmvnwmqa%?
(1) ufex R

(2) FEF g

(3) = =gy
¥ TR Egy
(5) =T = =Ry

fm—w@ammmﬁm;

(A) #ﬁm'ﬁnmaﬁmm—qﬁ%mﬂm

g
(B) ﬁm#ﬁmﬁﬁlﬁ?ﬁwﬁﬁl
mﬂﬁﬁfq—m/#mﬂnﬂ%ﬁ?
(1) =@ (B)
(2)  (A) &m0 (B) Zri
(3) A (A) s F (B)
(4)  =F (A)
(5) 3 7 & =Ea

89,

90.

91.

92.

§ of Pinjore
To promote the ancient Heritage

ar. One is the
two festivals are hclrj chry[:‘:Eh o
‘Pinjore Heritage festivals W

one ?

(1) Dates festival
(2) Mango festival
(3) Lemon festival
(4)  Orange festival
(5)  Not Attempted

Who among the following is th'e Mfl?;::_:;r?j
Environment, Forests and Wildlife o yana
State ?

(1)  Shree Kanwar Pal

(2)  Shree Mool Chand Sharma
(3) Shree Dushyant Chautala
(4)  Shree Anil Vij

(5)  Not Attempted

Which amongst the following is the State Tree
of Haryana ?

(1) Sacred Fig

(2) Mango Tree
(3) Sal Tree

(4)  Banyan Tree
() Not Attempted

Consider the following statements -

(A)  Sonipat and Jh

ajjar share border with
Delhi,

(2)  Both (A) and (B)
(3)  Neither (A) nor (B)
) (A) only

(5)  Not Attempte,

¥ BT b o110 Teqrey SPACE FOR ROUGH Wi




93. mewa%mm?hﬁ

Who was th
(1] Kal
e ey (3)

Gl G e |

ety o w oy =frm -
(A TET § qfers s fe 3
B)  HHUE F gfe e
STH T ¥ FR-T1/9 vy @ il
+ed (B)
(A) 3R (B) I
= T (A) XA E(B)

Fad (A)

(5) TR Tl e Il

J!'-

a9 a9 2022-23 & G, *




How many =

. W 97.
g7, wfamm A fpe fore 87 (1) 22
(1) (2) 23
» 2
1) )4 i 24
L h ) &
4) 21 i 4 |
I T &A1 =Rd | (5) Not Attemptec
(5) S i e L L

of the following dance forms of Har, ,

os. fmfafas § 3 wfamm # #19- 709 et farht | 98, Which o with Mewati tribe 2

SRR A= e ? is asso |
I (1) Ratval
R CE
u = (2) Phag
b (3) Gugea
S (4) Dhamal
(4] OIS

(5) Not Attem pted
(5] T T8 = 9Ed|

99. How many Rajya Sabha seats does Haryap.

99. ETEM 7= ¥ TF T ) fohAel i €2 have ?
1) 7 (w7
2 B (2 6
@S (BI85
(4) 8 @ 8

(5) = &l <1 <A | (5) Not Attempted

100. =0 M1 w7 S v afEs fEmm F g

F £ 100. Indira Gandhi Super Thermal Powe
is situated in which district of Ha;

(1) Tam= .
(1) Sirsa

(2) femm

) (2) Hisar

s

(3) ™= (3) Jind

(4) ==

(4)

(5) I R A 9Ed |

-000-
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